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ADVANCEYD USE oF PERCENTAGES EXERCISE

Trcrewse 48y by 131

Decresse  £67 by 14 %

T nereate £8a by 24

Decrase T206 by 22 4

Trerense  BZ ke by Mo 7,

Eee.reu; A4 bu 2 %

Trcrense 240 by Il ]

Becreste  3iShy byg 407,

Trccente  24m by 44 4

Decreste €33 by 23 4

A wackferce is redvced L"j C 2 bo 437, What was Ehe
Previevs size of the workforce ?

Tuchiing 20% VAT « television costs £420. What is ke
ex ~VAT price ?

A47 solliers complebed their Eeainig covie . T# 15 %
Aropped ovk, how many beqan the covrse ?

A caat ¢ prv‘ced at 442 n a sale with ZS'Z of€.
Whak was Ehe Pn‘ce ot the coat betore the Sule?
After < Ifz /sr{c.a rige o cyele wit €124, What

was Ehe prix Lefore tle price vige ?




ADVANCED USE oF PERCENTAGES
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Ex€ERcISE

Trerease A% Ky L"l 13 /.
wOZ + 137o = 1'37.
Find 1»32 o-{’nkj

43Kgx 113 = §4.24 Ky

32ky x 2,10 = 172.2 ky

Decrease £67 643 14.7,

00% — 147, = 8¢k
Find 862) ot £¢&7
267 4 0.86 = £57.62

b. Decrewse Fm by 34
0o -34 = 47/
Fied 474 of 99m
99w

X 0.97 = 9L. 03 m

| Tneresse £34 by 8q 7/
106/ + 844 = 1%4 /[,
F.d 194 7 o€ %4

£94 x .84 = £16%.2]

7. ILherease #2240 63 HZ
00 + N = Nk
Find 114 of £240

£240 x 1.1l = £2¢6.40

3. Decresse 31Sky by 404
1003 =400 = Lo/

| Deerease 1206w 53"3’&70
60k —32/4 = L8
Fiod 684 of T20m

T20m % 0.68= 4%4.6m

Fiod 66/ of 3»{/:3

315 kq x 0.60 = IZ‘H-rf)

. Therense 29m by 44 /

|00} +aals = laal
Find 1445 of 29m

Trerease 82 k3 L‘“_'} lio 7o
lan, + HOZ = 2007

End 2104 of 82 ko

29m x 44 = 4|.76m
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ADVANCED USE OF PERCENTA&GES

Decrease £33 by 23/,
1667 -23/4 = 77%
Find 774 of £33

£33 x 8.77 = £25.4)
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EXERCISE

'4’\ Or\SS—»\I - ‘LS'Z - £42

—
-

Oné\sf—m' X o.7§ £4

o Fan Z o35 = &5 (e |

£¢6

-
-

242 0.7

Coat way o/.s-.m(l‘l é{é

Work force yedvced bq ST € 437
_Or{a.‘ml x O0.49S :43‘7~

437 +0.95 = onigial
A31 < 0.45 = 460

Orl.Sfﬂu' k)bfk'éfcz = 4‘0 '

!{ C)/la;ﬂu‘ + /S_/‘: = é,?4.

Ociginal X (S = £18¢

{160

o €184 %€

| C:d{ woh $ orlrgofnul(j ‘é /é fa)

‘EsL’VA’rP(I.LQ -+ ZOZ, = L4720
Ex-vaT priie x 20 = £azo

o 2420 = 1,20 = Ex-VAlree

L4206 < 120 = #1350

-
-—

Ex-NAT pricr £ 350

Ohginal = 1S 4 = 442
Ouﬂma‘ x 0.85 = A4

Se 4470 —0.8Y = or.‘t)..'m.l

441 <= O.8¢ S20

$20 soldiers started coone
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